2-1/2" SWIVEL PIPING STREET "T" DIFFUSER (ST-25)

ST-25 PARTS LIST

PART
NO.

z
o

DESCRIPTION

QTY.

411-MS

1/4-20 x 3/4" S.S. BOLT

317-HS

HANDLE SCREWS

301-SH

HANDLE

314-LN

1/4-20 NYLOC S.S. NUT

632-NT

8-32 NUT W/LCK WASHER

202-RF

RUBBER BUMPER

424-JB

8-32 x 1" SCREW

FK-610

2-1/2" SWIVEL ASSY.

FK-121

4" PVC BARREL

FK-118

4" PVC DISCHARGE VENT

2olomNo|a|Awh|

FK-114

4" PVC TEE

=N [WWWIN=IN|W

ST-45 PARTS LIST

PART
NO.

z
©

DESCRIPTION

QTY.

411-MS

1/4-20 x 3/4" S.S. BOLT

317-HS

HANDLE SCREWS

301-SH

HANDLE

314-LN

1/4-20 NYLOC S.S. NUT

632-NT

8-32 NUT W/LCK WASHER

202-RF

RUBBER BUMPER

424-JB

8-32 x 1" SCREW

FK-613

4" SWIVEL ASSY.

OOINO|N|AWN|—~

FK-122

6" PVC DISCHARGE VENT

—
o

FK-116

6" PVC TEE

=N WWWIN=NIN

ISO-9001 CERTIFIED

ﬁAkron Brass Company

A Premier Farnell Company

501 N. Cummings Lane, Washington, IL 61571
Phone: (800)214-6800 Fax: (800)214-6808




